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[f1] REA~MEERIN B RFERITTE R A50004, BH

FmiVEEENME 1500, B ~mERNRAAI0T, F

HEmiBEAR200T, FEERAA1207 T HAKiZMEB
EREHERATIE. FEESEEHSMEFRREE,

2. HRENITE R INERERK, BEmmAKFERA:

1500 X 5000-1200000— (900+200) X 5000=800000 (JT.)

FERSTIHaMETATRATESERTHA:

0= % =1 200 000/[1 500-(900+200)]=3 000 {4}

BEP(Q) = 0 x 100%= (3 000/5 000)x100%=60%

O
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[Bi%Rn ] RelEFERMER, KIHE~ER600015, BH~

mHEHENE A0, U SFEE ML A660007T, BH~m
T A 7287, MizImEME~HRTEA ( ) .
A.39.29%
B.53.12%
C.57. 88%
D. 50%

R ESE: D

LR . BSEES0k=66000/ (50—28) =3000 (ffF) ,
M5 B B9%E F= 1 ZBEP (%) =3000 X 100%/6000=50%.



